ROE Methodology for Interest Calculation
The following are the steps that were used for the ROE Interest Calculation:

Determine the Changes in Charges
Calculate the delta between the current settlement and the previous billed settlement on a pool level. 
· RNS  (RNSC MIS Reports)

Current Month [Pool Sum (Pre-97 RNS Charge + Post-96 RNS Charge +   OATT Schedule 1)]

Minus (-)
Previous Billed Month [Pool Sum (Pre-97 RNS Charge + Post-96 RNS Charge +   OATT Schedule 1)]

· TOUT (TOUTC MIS Reports)

[Current Month (Pool Sum (TOUT Charge + OATT Schedule 1)]

Minus (-)
[Previous Billed Month (Pool Sum (TOUT Charge + OATT Schedule 1)]

The delta in charges for RNS and TOUT will be the Principal Balance used for the interest rate calculation.

Interest Rate Calculation
Calculate the pool interest value. 

Interest is calculated using the FERC’s monthly interest rates compounded quarterly.  See link for rates:  http://www.ferc.gov/legal/acct-matts/interest-rates.asp#skipnavsub
FERC’s year runs from January through December therefore the quarter-ends are March, June, September, and December.  

To calculate interest, take the Principal Balance multiplied by the monthly interest rate.  At the end of a quarter, add the interest for the months calculated within that quarter to the Principal Balance (Principal amount for interest calculation will change each quarter).  This becomes the new Principal Balance for the following quarter.  
Below is an example:

Principal Balance - $100,000

Calculation period is August 15th to December 21st.

FERC Monthly Interest Rates:  

Aug  
.0066

Sep  
.0064

Oct 
.0069

Nov  
.0067

Dec  
.0069

August – ($100,000 * .0066)/31 days * 15days = $319.35 of interest

September – ($100,000 * .0064)/30 days * 30 days = $640.00

September is the end of a quarter therefore the interest above is added to the Principal Balance for October - $100,959.35.

October – ($100,959.35 * .0069)/31 days * 31 days = $696.62

November – ($100,959.35 * .0067)/30 days * 30 days = $676.43

December – ($100,959.35 * .0069)/31 days * 21 days = $471.90 

Total Interest Due on December 21st = $2,804.30

The timeline for the ROE interest runs from the previous bill date to the date of the current ROE resettlement.

Interest Rate Allocation
Allocate the Interest to each participant:
Determine the delta between the current settlement and the previous billed settlement by participant for the Charges and the Payments.  Next, calculate the interest for Charges and Payments by prorating the delta of the participants by the pool delta times the interest amount.  Finally net the Interest amount calculated for Charges and Payments.  
· RNS  
· RNSC MIS Reports  

· RNSC delta by participant = 

Current Month [Net Regional Network Service Dollars] 

Minus (-)
Previous Billed Month [Net Regional Network Service Dollars]

· RNS pool delta =


The sum of participant’s delta
· RNS Interest allocation by participant for RNSC =


 

Pool RNS interest value




Times (*)




(Participant’s Delta Divided by (/) RNS pool delta)
· RNSP MIS Reports  

· RNSP delta by participant = 

Current Month [Net Regional Network Service Dollars] 

Minus (-)

Previous Billed Month [Net Regional Network Service Dollars]

· RNS pool delta =


The sum of participant’s delta
· RNS Interest allocation by participant for RNSP =


 

Pool RNS interest value




Times (*)




(Participant’s Delta Divided by (/) RNS pool delta)
· RNS Interest  = Net of RNSC and RNSP Interest allocation   
· TOUT  
· TOUTC MIS Reports  

· TOUTC delta by participant = 

Current Month [Net TOUT Dollars] 

Minus (-)

Previous Billed Month [Net TOUT Dollars]

· TOUT pool delta =


The sum of participant’s delta
· TOUT Interest allocation by participant for TOUTC =


 

Pool TOUT interest value




Times (*)




(Participant’s Delta Divided by (/) TOUT pool delta)
· TOUTP MIS Reports  

· TOUTP delta by participant = 

Current Month [Net TOUT Dollars] 

Minus (-)

Previous Billed Month [Net TOUT Dollars]

· TOUT pool delta =


The sum of participant’s delta
· TOUT Interest allocation by participant for TOUTP =


 

Pool RNS interest value




Times (*)




(Participant’s Delta Divided by (/) TOUT pool delta)
· TOUT Interest  = Net of TOUTC and TOUTP Interest allocation   

